LAV HE . f/\, HE . {/\/ HiE D A
FRAONEEE RUATHRVWDUE - RUATEbUE (REDIR)
XA 3 RA ¥ U »
HYE 60 ODEIHICH TITE2HFEETEL LD,

O |+6=6 @9+ |=1] @ |+2=6
@ |+9=T7-17 @ | |+5=1-3 @| |+9=9-8
® | |+9=5 @54+ |=6 ®[ |+6=

@ 13+ |=1-5 @ 25+ |=5 @| |+6=6
® | |[+8=32 @ |+6=1+2 @| |+T7=4-5
® |_|+4=5 +5=8 @70+ _|=8
@ | |+4=92 @32+ |=8 @30+ |=6
+6=45 ® 40+ |=5 +1=9
@ | |+7=4 @52+ |=5+7 |1+ =2
© 27+ _|=3 @5+ |=| ® 36+ |=9
@30+ _|=6 @ | |+6="7"] @ | |+7=8

@ |+7=4-3 @[ |+4="T| ®| |+8=3

® 48+ |=5+3 @7+ =1 ® 60+ |=7
@ | |+5=17 @ |6+ |=2 @49+ |=8-
® | |+8=5 ®31+[ |=7-3 ® |5+ |=5
+8=6-17 ® 28+ |=4 624+ |=6
@ | |+8=T77 ®8+| |=8 & 4+| |=2

+6=23 +3=2 19+ |=3-
+7=1-3 ® |0+ _|=2 +9=8-8
+1=3 +9=8-5 @37+ _|=7

(1/10)



HLATEW HE . i‘:/\, HE . {/\/ HiE D A
NN 2unTaUDUR - AUNTEbUR (KEHHT)
HYUE 60 ODE bl I Lo EeEx£L 15,

© [J+4=6 ®[]+7=5"4 ®25+[]=5
® 15+[]=5 ® 12+[]=2 @ [J+6=1"2
®73+[]=9| ®[]+2=9| ®[]+4=3

® []+6=81 ®6+[]= @[J+7=1-4
®62+[]=7+6  ®[]+4=3-3 ®75+[]=83
® 14+[]=2 ®3+[ =11 ® 44+ [ ]=62
®[]+5=5 ®[]+2=8 @[ ]+7=5"6
10+[]=22 7= ®3+[]=3
®[]+6=2 ® 12+ ]=4 +3=3
18+[]=6 +6=6-| 5+[]=33
®54+[]=9 ® 10+[]=5 @ 4+[]=2
®[]+8=5 @4:[]=1-5  @[]+4=5
®[]+8=2 ®[]+9=67 ®3+[]=
®66+[1=9-3  @[]+8=7 ®36+[]=9
®[]+9=5"2 ®[]+5=3 ® []+4=3
+8=G-4 £Q=7-17 ®8+[]=8
® 40+[]=8 ®30+[]=6 ®6+[ =6
® 46+[]=56 £1=6 ®7+[1=7
® 45+ ]=5 ®37+[]=72 +Q=8-7
® 24+ =4 @36+ =4 +7=9

(2/10)



HLATEW HE . i‘:/\, HE . {/\/ HiE D A
NN 2unTaUDUR - AUNTEbUR (KEHHT)
HYUE 60 ODE bl I Lo EeEx£L 15,

® 6+ |=3 @ | [+2=T| @ |+4=9|
@25+ |=6-1 @36+ |=4 @6+ |=6

® 35+ |[=3+8 @ |+9= ®@| |+9=8
@33+ |=3+6 @ |+1=9 @27+ |=9

®| |+2=6" ® | |+4=4 ®@30+|_|=5
® 23+ _|=5+3 @ 40+ |=8 @60+ _|=84
@ 56+ |=8 D48+ |=6 @| |+2=5"]
+6=9-2 +4= @21+ |=7
@ | |+4=6" @ |8+ |=33 @g+| |=9
+4=6"+2 @4+ =11 +2=9
Q4|+ |=5-1 @4+ |=4 @[ ]+1=9
@ |+7=92 @26+ |=4-2 ® | |+5=4
® 10+ =31 ®@| |+8=64 & | [+7=66
@ | |+3=9| @ | |+8=5"3 & |2+ =14
® | |+7=6 ®[ |+9=3 ® | |+4=4
® | |+3=7"1 ® | |+3=1I & |9+ |=3-
@ | |+5=2 @[ |+5=5 ® | |[+7=26
+q=1-8 ® 30+ _|=4-2 +q=1-4
@49+ _|=7 ® | |+3=6"2 ® | [+9=2-6

®
w
<
Il
=
~
®

+G=2--3 ® 50+ [ ]=5-

(3/10)



LAY

ERRN

HE . < HFE . XA HiE D A
RUHNTHODUE - RUATEDYR (REHIR)

pUE60 At Ty
© 36+ |= @[ |=9=| @ | |+4=3
@ |+7=8" @ | |+2=" @59+| |=8+3
® | |+3=2 @27+ |= ® | |+4=6
@ 5+ 2 @ | |+T7="T- @| |+9="]
® | |+5=9 @4+ |=8+2 ®| |[+9=64
© | |+9=5 ol |=8- @22+ |=4-2
@ 39+|_|= @64+ |= @20+ |=5
® 44+| |= @59+ |="7- +5=2-1
@21+]_|= @53+ |=T7+4 +4=q |
©39+| |= @2+ |=| +o=4
56+ |= @[ [+8=4-+5 @ ||+ =13
®| |+8 ®@| |+5=3- ® | |+7=4-]
®| |+7=1-2 ®| |+2=2 ®24+| |=8
@] |+9=5 & 66+ [=8 ® 45+ =9
®| |+4=5 ® 35+ |= ®| |+7=T72
©®| |+3=22 G| |+3= ®| |+9=4-6
@5+ |=8-3 @42+ |=6 & 29+ |=3+2
® 39+ _|=5+4 ®| |+7=2+5 ®| |+2=9
+q="7-7 ®8+|_|=4 +q="7-3
+4=2-3 ©33+| |=6-3 +2=

(4/10)



LAY

ERRN

HE . < HFE . XA HiE D A
RUHNTHODUE - RUATEDYR (REHIR)

pUE60 At Ty
® 5+ _|=5 @ |5+ =2
@ | _|+8=817 @ |6+ _|=4
® | |+6=7 @ |+2=1
® 64+ _|=9| @ | |+5=1I
® [ |+6=43 ® | |+4=9
© 56+ |=8 @32+ |=4-
@ |_|+3=6 @ | |+2=2
®7+[_|=31 18+ |=3
@37+ _|=6- +9=4
©@20+|_|=4 +6=83
@35+ _|=5 @6l |=7-
@ | |=7=4-4 @7+ |=1
® 4= =4 ® [ [+3=4
@ |+4=11 @7+ =17
® | |+7=2-3 ®38+|_|=4
+7=2-5 = =7
@45+ _|=9 @ | |+4=5
+5=G--2 @ [0+ _|=1-
+8=8"7 ® 24+ |=8
+7=34 |4+ _|=2

(5/10)

4

® ® ® ® ® 6

® ® ® ®

® & ® ® ® O

® ® 9

®
~
oK

T




HLATEW HE . i‘:/\, HE . {/\/ HiE D A
NN 2unTaUDUR - AUNTEbUR (KEHHT)
HYUE 60 ODE bl I Lo EeEx£L 15,

O 16+ |=4 @ |+2=6 @[ [+8=2

@[ |+6=3-4 @35+ |=5 @42+ =17
® 18+[_]=9 @ |+8="7 @[ |+6=8

© |+8=31 @ |+6=8 @[ |+6=3-3
®|+9=4-8 @ 18+_|]=9 @ |+6=3I
© 49-+_|="7 +3=82 @ |12+ |=2
@ 35+ |=5 @36+ |=9 @48+ |=53
+3= @72+ _|=8 +q=4--4
® L |+1=3 =7=7-3 @2+ |=2
© 69+ =96 @ |5+ =71 @6+ =3
© 76+ =84 @ 18+ |=4-2 @54+ |=9
@ |+1=I @34+ |=37 @ 13+ |=3
@ |+8=2-2 ®20+ _|=5 @21+ =3
@45+ =9 @ |+1=2 ® 37+ =6
® 42+ =6 ®48+|_|=8 ®[ [+7=6

© | |+2=4 @45+ |=6-3 @ 4|+ |=5-
@ |+=9="7 @[ |+8="7 @[ ]+9=6-6
+6=4 +7=4-3 @7+ =17
+6=8| +4=38 @63+ |_|=7
@ |6+ =4 @[ |+8=17 ® | |+4=8

(6/10)



LAV HE . f/\, HE . {/\/ HiE D A
FRAONEEE RUATHRVWDUE - RUATEbUE (REDIR)
XA 3 RA ¥ U »
HYE 60 ODEIHICH TITE2HFEETEL LD,

®[]+9=8 ®40+[]=5 @ []+9=6-5
®49+[]="7 @ []+4=17 @ []+7=2-2
®[]+8=6" ®[]+8=7-3 ®67+[]=9~
® 12+ []=4 ®13:[J=1+6  @34+[]=4~
©®87+[1=9-6  ®[]+2=8~ ® []+7=76
®56+[1=8 +6=3-3 +3=3|
®6+[]=2 ®[]+8=3-3 @ []+2=3-|
24+[]=3 +5=4 +6=2-|
®63+[]=9 +7=9 ®3+[]=3

®71+[1=7-8  ®24:[]=6 +2=6-|
®38+[]=7-3  ®[]+9=8 ©37+[]=7
@[ J+1= @[ ]+9=3-2 @[ J+1=4

®[J]+7=1-5 ®[]+5=3~ ®[J]+1=6

® 10+[]=5 ®5+[]=5 & []+5=3~
® []+5=73 ®[]+7=5-1 ®36+[]=4
9+[]=3 th=t | +4=2

®[]+1=3 @[ ]+9=9-3 @ []+7=4-3
+5=3 ®8+[]=8 ®9+[]=1-2
+8=5-4 ®20:[]=2-2  @31+[]=3~

® 72+ =8 ®25:[]=6-| @43+ =4

(7/10)



LAY

ERRN

HE . < HFE . XA HiE D A
RUHNTHODUE - RUATEDYR (REHIR)

pUE60 At Ty

© 65+ =72 @54+ |=9 @[ |+3=1-2
@ |+8="7 @3+ |=3+4 @[ |+5=2+4
® 73+ |=9| ®@| |+6=4-3 ®| |+3=2
@43+ |="T1] @ |+7=6 @64+ |=8
®3l+| |=3-7 ® |2+ |=3 ®@| |+4=4

© 28+ _|=4 | |+3=9 @| |+8=32
@ |+9=6 @ |9+ |=9-| @ |+7="7

® | |+8=8"7 @4+ |=2 @| |+7=5"4
@ | |+T7=4| @28+ |=9| @63+ [=9
+4=9q ®@ 50+ |=7-1 ® 72+ |=9
4+ |=4 @7+ |=7 @ b4+ [=9
@ | |+7=42 ®@| |+9=6 ® | |+4="]
@38+ |=9 @ |[+8=8"1 ® | |[+6=9
@2+ |=2 & |7+ |=21 ®| |+3=9-2
® 56+ |= ® |5+ |=3 ® 43+ |=8
© 84+ @ Hh+| |=T]+2 & 59+ |=
@ |5+ @ | |+8=6 & | |+4=5
® |0+ ® 4+ | - ® 36+ |=
6+ |=1+2 ® 38+ |=4-2 +q=4

@39+ |=4-7 ®| |+2=6

(8/10)



LAY

XS i »HFE Th B S 13 A
RO RUATHLDUE - RUNTEHDUE (CUEDR)

X A 5L n
ODEIHICH TITE2HFEETEL LD,

HUE 60

O© 32+ |=4 @60+ =66 @[ |+6=3
@2]+[_|=2+5 @ |0+ _|=31 @[ |+1=3
® 47+ _|=T7+5 @3+ |=3 @[ |+8=14
@ _|=7=21 @ | |+4=2 @2+ |=2

® [ |+5= ® 53+ |=65 ® 43+ |=4-
©7+_|=1 @6+ |=2 @ |0+|_|=5
@4+ |=2 @ | |+9=3-7 @6+ =6
+]=2 ® 70+ _|=8+6 ®89+|_|=9-
@ [+8=2"6 @ [+8=32 @[ |[+6=44
©63+|_|= ® 72+ ® 45+ |=
O3+ ]= ® |16+ ®[ |[+8=4
@2+ |=1 ® |6+ ®33+|_|=
®29+| |=T7~1 ® [ |+7=9- ® 4+[ |=2

® 1+ _|=1 ® 30+|_|= ® [ |+7=6

® 12+ |=2 ®| |+4=3 ® 49+ |=
® | |+3=9 ®[ |+7=9+6 ® [ |[+4=8

@ 48+ |=53 ®| |+3=6 ® | |[+8=6"5
®[ |+9=2-5 ® | |+8=5~1| ®[ |+9=
+6= +7=8-5 ® 30+ |=5
+3=42 +7=3 @21+ |=7

(9/10)



HLATEW HE . i‘:/\, HE . {/\/ HiE D A
NN 2unTaUDUR - AUNTEbUR (KEHHT)
HYUE 60 ODE bl I Lo EeEx£L 15,

©27+[]=4+-3  ®[]+8=9-5 @ []+8=4+2
@25+[]=3+4  @13+[]=3~] @[]+1=7
®[]+3=8 ® 64+ =8 ®[]+7=6"4
®[]+8=56 ®[]+9=9 ®[]+7=8
®30+[]=6 ®13-[]=1+6  ®[]+3=
®[]+3=3 ®76-[]=8-4  ®27+[]=9
@ []+7=2-3 ®[]+-8=8 ®63+[]=9
s6=1 | ®9+[]=| ® 47+ []=7
®24+[]=4ty  ®[]+8=54 @ 15+[]=5
+5=9 ®30+[]=5 ® 10+[ =13
©46+-[]=6+4  @37+[]=5-2  ©[]+6=8

® []+7=7 @24+ =44  ©[]+9=3-7
®50+[]=7-1 ®[]+8=3"4 ®[]+6=2-

® |+[]= @ []+4=6 ®[]+9=9
®[]+8=84 ®55+[ =9 | ®[]+1=8
®53+[]=8-5  ®[]+4=4"3 ®[]+9=2-8
®[]+3=2 ©59+[]=8-3  ©68+[]=7-
£ =4 | |7-[]=81 @8+ =11
®[]+5=62 ®[]+4=8 ® []+4=92

®4|+[]=5" +4=82 +8=22

(10/10)



